GSE Algebra 1 Unit 2 2.10 - Notes
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Arithmetic Sequences

A_Se PUINCC is a function whose domain is a set of consecutive whole numbers.
This mokes ‘rhe domom for EVERY sequence {1, 2, 3, 4, ...}. The range would be the terms of
the sequence (the numbers in the list). The sequence can be specified by an equation or a
rule.
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An _ 04T T meTiC seguence is a sequence of terms that have a common (,{)ﬂ e
between them.

Explicit Formula: (used to find a specific term in the sequence) Make sure you SIMPLIFY!
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Determine if the sequence is arithmetic: Find the explicit equation:
2,.88.11, .. 2, 56,8, 11,
= B 0y = 04 la-1)
-9 =3 il N 2 =
% ) \i/&//_S 4,23 4-5Cn | > a=-on fl
Ei 74/““’ ?3 Y4 =4
ol N A - - =
fla st oa > C(,“‘ g(i}w[ - -i?"/“taz
Determine if the sequence is arithmetic:
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Determine if the sequence is arithmetic: Find the explicit equation:
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How else can we represent it?

(/\(ﬂt d‘ﬁ + U,

= mxh b

Find the common difference, the explicit formula, and the tenth term.

3,9,15,21, ... 0, = a +d(a-1) Q,=6C1 )3
A=F-3=6 O ,= 3+ c(a=1) G = 6-3
0= 3 Gz 3+on =6 G,=3 v~
0n= N3

Graphing arithmetic sequences:

The key is realizing that the explicit formula simplified is the same as \ T mx o L
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